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Question Number : 1 Question Id : 4771872601 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Rakesh, a Class-IX student is actively involving in co-curricular activities than

curricular activities. This relates to
Sy st p 8 st g Lust S stz Y
el 2 ) o2y RUst s Qs e st/ O .,«HBK(JLZ =1

_r‘_',uwr_‘-u”

Options :

Inter-individual differences

;:lﬁd{;)&-‘ﬂiﬂ)l

1. %
Intra-individual differences
LS j’ lub I3

2.9

Both inter and intra individual differences

- :Jﬁﬁr-djlﬁlu:b’uuﬁt,uiyu

Neither inter nor intra individual differences

:.f,*li?d:f/'}l&!;&t;}!cﬁ‘.;;



Question Number : 2 Question Id : 4771872602 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the INCORRECT principle of child development
SISk LU P S2

Options

Development proceeds from general to specific responses

= & . L}/Jf:.@‘r"? ;.l“.spf,_g}@ i s

1. %
Development follows the principle of interrelation
e 3G ad P S E
2. %
Development proceeds in the direction of the foot to head
e Gk Sl pe P
3.9

Development exhibits lack of uniformity in the developmental rate of a

child
e Bt ARRL PSS i P S5

4.



Question Number : 3 Question Id : 4771872603 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the periods of development given under List-A with stages as given under

List-B with respect to Erikson’s Psycho-Social Development Theory

LB Il L e sei LA e d oL PUI-GeL o4

(Period of Development)

skl &
A) Birthto léyears

fdbl%;.yig:
B) 6yearsto 12 years

FN12 -6

C) 3yearsto6years

'JL’6&-JL’3

1
D) 15 vears to 3 yvears

JJV:S;JL*]%

Choose the correct one

A=)

Options :

A-m, B-iv,C-1, D-11
1.¢

A-iv, B-111, C-1, D-11
2. %

A-1i, B-iv, C-i1, D1
3. %

WAL S p L e s

List—-B

B:.-f'/;;
(Stage)

o

Initiative Vs Guilt

2 LG 10

Autonomy Vs Doubt

- Lo pivy I35
Trust Vs Mistrust

gl g g

Industry Vs Inferiority

SIS et



A-iii, B-1, C-1v, D-1i
4. %

Question Number : 4 Question Id : 4771872604 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement relating to the growth and development of a
child

- | = L
“E S = S iy SE
Options :

Development is comprehensive than growth

e Ceutd b LAl

Growth 1ncludes quantitative aspects; development includes both

qualitative and quantitative aspects

Jﬁ)ﬁuﬁj;d;!ﬁ;:ldx_h'u:ufﬁjbﬁfﬁgﬁdb;“laLlfﬁ.ﬂﬁ_iﬁy‘;

A
2. %
Maturation and environment influence child’'s development
e T a owr B : -2
IR gy JéJ?LJ:Iﬁ
3.8

Growth 1s comprehensive than development

el e b L

4.



Question Number : S Question Id : 4771872605 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following, identify the correct statements regarding the role of

heredity and environment on child development

JS G ggé‘g e d1p L SErmand q S/ S e Sitipi

A) Heredity plavs a role in physical development of the child

_?dﬁ;IJFJ/JUﬁdHJé.LJf;
B) Environment plays a role in the emotional and social development of the

child
—e b S Qe S22

C} Development is the product of environment and heredity

_%JIEIJE.JXLJIFJJIJFLL};}

D) Learning and maturation influence development of the child

Vs Y o

Choose the correct one:

K2 éd

Options :
A, C,Donly
DC:A_i ~
1. ®
B,C,Donly
D«C:B_i ~
2. %
A, B,Conly
CBA_~
3. %
A BCD

4.



Question Number : 6 Question Id : 4771872606 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

A teacher has provided support to a student in performing mensuration problems

and has gradually withdrawn support after the student was able to perform the

problem independently. According to Vygotsky, thisis
E-.L.;J’;j" ;.JﬁH‘ _.Jlb/gx;idxm V(H. - L}:L);J?}(’J/L-ﬁ E.L,;%-}LJLM
el &,L&»Z.ud@uy/ﬂﬁx e izl n )i

Options :

Scaffolding

A

Fading
ez y
2.

Shaping

Lj’[._“u!“’

3. %

Guiding

L'/[,JLA:?J



Question Number : 7 Question Id : 4771872607 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

As per Kohlberg's Theory of Moral Development, in this age, the child behaves

with obedience for avoiding censure by higher authority or social systems.
LLEe FirSurBlerbEsutmndb L Lud 3l Sy
—e b SR Z LS A/
Options
4to 10 years

104

10to 13 years

J-13210
2.9

3 to 8 years
3 % dbgcj

8to 13 vears

J-13=8



Question Number : 8 Question Id : 4771872608 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Wechsler's Block Design Test, Picture Arrangement Test and Object Assembly
Test belong to this type of intelligence tests.

:.:J'Cf'4,.3-L(J.;_,"i:.-jrjﬁf;?IJ;I..*J?EFJ{;LJMJ(UZ!gﬁuf/&)g:d}bﬂ/@-}

9%
Options :
Verbal
1
1. % ULJ
Performance

G

2.

Paper — pencil

3. % :
Projective tests

RN

4.%



Question Number : 9 Question Id : 4771872609 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Who defined the personality as “the dynamic organization within the individual

of those psycho-physical systems that determine his unique adjustment to his

environment”.
~ JsLure -0 ud eSS Auias S et L s
_%S/prfﬁﬁ;ﬁ;,dﬂgfwﬁ;
Options :

Hillgard
xS

Raymond B. Cattel

S AD

2. %
Allport
Ly Jr
3. ¢ '
Carl Jung

L)k



Question Number : 10 Question Id : 4771872610 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A (Class-X completed student wants to continue his study and at the same time
wants to join work to help his family due to socio-economic condition. The conflict

being faced by the student here s
3Gt Gh Al sl e b8 Ao (7 G Mt i S otz s
b S E et S LsuS it e
Options :

Approach-Avoidance

Y

1. %

Avoidance-Avoidance

Sy

Approach-Approach

A p

3. ¢

Double Approach

ox A



Question Number : 11 Question Id : 4771872611 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct statements regarding the methods and approaches of Child

development
Kl T e Ui b pSUF S
A) Case Study Method 1s not applicable to an individual
e T/ 3 P68
B) Introspection Method lacks reliability, validity and objectivity
_q_,d’df:.wf,'f’ﬂf:jfﬁr:-yﬁfu’:JK,'ﬁF_/biJJaﬁlfﬂ
C) Observation Method can be used to assess the behaviour of an individual

in natural conditions

e DCIP.L_-UL‘:’lé. PP (3 )17, ARy L 8 PRGNS
D) Experimental Method advocates the study of behaviour under completely

uncontrolled flexable conditions

e SIS i o Al o b P S £

Choose the correct one
s gzl

Options :
AB.CD

1. ®
A, B.Conly

CBA_~
2. %

B, Conly

3@ CBli#

A, C,Donly

L% D.C.Ai



Question Number : 12 Question Id : 4771872612 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Decision making, Problem solving and Logical thinking belong to this domain
_ujg;"{ W e Py &S od S L

Options :

Psycho-motor

1. % §7s”

Cognitive

Jl,ulf 3
2.

Affective
3 % Ji; e

Conative

4 n M



Question Number : 13 Question Id : 4771872613 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following, identify those that are relevant to learning

I - (T Y S Y3 4

A) Unlearning is also considered as learning
Y G- (>
B) Learning i1z a product and not a process
S Lo S
C) Learning prepares an individual only for any maladjustment

et d Leabrwd S S0 LT

D) Learning results in behavioural change through practice

-§_¢ B LM 25 A Y s T

Choose the correct one

-

Options :
A B.CD
1. ®
A B.Donly

, % DuBAL~

A B,Conly

C,B:A~
3. %

A Donly

DA}~
4.



Question Number : 14 Question Id : 4771872614 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the items in List- A with the needs they represent given under List-B

-.;.J‘E‘;uf:Bcfjﬁu::ﬁjviawﬁulf rf a2 e A

List- A List—-B
A) Elderssupport 1) Esteem needs
&:,L?d/uﬁ'/. Lf.x:,*"’(_:ﬁu:.}‘
B) Socialstatus i1) Safety needs
ey g,f.". A ﬂd'.bﬁ;
C} Sleep iii) Love and Belonging needs
e .:,JJ/J’J.:#'J:I:{U;I
D) Affection iv} Physical needs
Jl_f,z b[‘:: 42 /':7 d‘Lf"?

Choose the correct one

A o AT X

Options :

A-iii, B-i, C-1v, D-ii
1. %

A-i1, B-1, C-1v, D-11i
2.

A-ii, B-iii, C-iv, D1
3. %

A-iv, B-i1, C-1, D-11
4. %



Question Number : 15 Question Id : 4771872615 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Among the following, identify the correct sequence of the steps involved in

learning process
GL5adzE SS et S Wie dtd it

Options :
Goal, Motive, Overcoming obstacles, Achieving desired behavioural

change

b2 S bl g9 F s

1. %
Goal, Overcoming obstacles, Achieving desired behavioural change,
Motive
SF IS ur S 5P 46 U9 oK sP

2. %
Motive, Overcoming obstacles, Achieving desired behavioural change,
Goal
ks RS ey 6 S

3. %

Motive, Goal, Overcoming obstacles, Achieving desired behavioural

change

65w S 1 A8 qudskscss S

4.



Question Number : 16 Question Id : 4771872616 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the factor of learning which is associated with Men and Material

resources

-?.:-:".!C-Jl’)d)bﬂ)fﬁbfuffu-‘jﬁjﬂjf‘iyg_,-rIL_.:L:ﬁ

Options :

Proper seating arrangement and peaceful environment

LS gl

Linking the recent learnings with those of the past

(32 AL T

2. %
The basic potential of the learner
PRI g IR o

3. %

The level of aspiration and achievement motivation

A Prdes S 08



Question Number : 17 Question Id : 4771872617 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the theories given under List-A with the basic principles given under
List-B

-L,fll- ;u;‘r’U;lﬁ:iB &fj £%-JJ:VEJIQW£%-J:}“£AM/€

List- A List—B
=P A B g
(Theory) .(Principle/Laws)
(- /4) (J#1/96)
A) Operant conditioning i) Learning is based on the principle
5 /..., Jf of association and substitution

® . & . -
%LS:,;J!"U,I/AUJ?TL‘-(I
B) Classical conditioning ii) Stamping in correct responses and

bs S s

stamping out of incorrect

responses
,er,.:.J!u_hlEﬂfL‘@ﬁ' uﬁny:.f.u
L8
C} Trial and Error iii) Emphasison perceptual
reorganization

5§ i
,'jg;'r‘fu JJJ:F

iv) Emphasis on response ratherthan

stimulus

3}.4_:()“ 3 ¥ r i G'r:.\_f/ ra

Choose the correct one

G I2E

Options :



A-iii, B-1,C-11

1 %

A-iv, B-1, C-ii
2.¢

A-iv, B-11, C-i1
3. %

A-iii, B-iv, C-11
4. %

Question Number : 18 Question Id : 4771872618 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A (Class-V student observed the Gardening work and plantation activity of high
school students at school. He planted flowering plants at home. The action of the

student reflects this step of social learning.
SAL SN ne MK 3o L L S8yt JEF oLk sl
et SN LT S 6 Iy L
Options :

Attention

W

Performance

uf.r/;b/

2.

Reinforcement

g

Retention

4. % e



Question Number : 19 Question Id : 4771872619 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following, identify the aspects that can be transferred from one

situation to other situation of learning.

B E S IE 1528 e JE v LIS T2y S50 S Ui o5

A) Habits

=k
B) Knowledge

=
C)  Skills

=i
D) Feelings

=L

Choose the correct one

é_fl}:‘IK_‘,iﬁéﬂ

Options :
ABCD
1.
A.C,Donly
DC:A_ ~
2.
B.C.Donly
DC.B_ ~
3. &%
A, B, Donly
DB:A_ ~#

4, %



Question Number : 20 Question Id : 4771872620 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
A Class-VII student tried to recall the concepts of Class-VI but the concepts

learnt in Class-VII are interrupting him. This is due to
& P s a S AL of P L5 monl F (L sz
i 2| J!-u;‘s'g.,;JIidAE’J:J;rﬁz
Options :

Proactive inhibition

w2l b
1. ®
Repression
2w ¥
Amnesia
o=
3. % -

Retroactive inhibition

LYY
4.



Question Number : 21 Question Id : 4771872621 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Suggest the aspects which help individuals to improve their memory and

retention abilities

_u_j/;;;:’*u:;&‘.f:.*u’:.«’_t:ﬂffu;fmf;ﬁuwléébi;)ﬁ:‘r;ﬂ

A) Appropriate motivation

J/f‘,.fl.?

B) Over learning

w;/.
Ay

C) Being more emotional
Lsr QL domsl J

D) Association of ideas
S =

Choose the correct one
-l

Options :

A, B,C,D

A, B, Conly

CBAL ~
2. %

A B.Donly
- D:B:A_i ~

B.C,Donly
D.C.B_ ~



Question Number : 22 Question Id : 4771872622 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The educational programmes such as Acceleration and Enrichment are to be

followed by the teacher to deal with these students

il Al L& e b LS o a3 s

Options :
Gifted
(Besds™ 2l
1. ¢
Learning disabled
5 % JJJ:"-"L}L—*F"
Physically challenged
Fonid
3 % JJM’L,LA""?
Slow learners

LL!&’?:.{_{JD S

4. %



Question Number : 23 Question Id : 4771872623 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In this learning, Learners initiate and advance their learning by more

experienced partners

-u{?ibﬁfJJlu[}'L)?ETgﬂgL-j;.lé.;_iifbj‘LyK..L.juk_}L!;é%_ﬁ,muﬂ

Options :

Insightful Learning

H"’l bt

A 2%

1. #
Imitational Learning

2. %

Programmed Learning

St
3. %

Guided Inquiry Learning

-‘fL:ﬁL;;JCi Ly

4.



Question Number : 24 Question Id : 4771872624 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The teacher has to follow these steps to improve individual learning among
students

bt S pe B Lot S TS i nd b

A)  Setclearand specific goals

JAE S s

B) Make goals dynamic with revision at regular intervals
J&J}f_ﬁl*!ﬁv&dt‘ﬂ.éu:ﬁﬂﬁﬂ

C) Involve parents
JISCS A

D)  Letstudents own their progress

BRSNS

Choose the correct one

LSl

Options :
A, B. Donly
D:BA_ ~
1. %
A B.Conly
5 CBAL~
A, C,Donly
DC:A_i~
3. %
A BCD

4.



Question Number : 25 Question Id : 4771872625 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In 5Q3R method, the learner has to follow this sequence
ce ey /S pei Ut s FSQaR
Options :
Survey, Question, Review, Read, Recite

- p
t‘”%d‘ifi‘ufzwﬂ?‘d!f‘é-}f

1. ®
Survey, Question, Read, Review, Recite
2 20 Jaloke fe Jyees

2. % =
Survey, Question, Read, Recite, Review
uﬂ?ftﬂ’,ﬁdg}rtﬁ’,ﬁfdlr (it

3.

Survey, Read, Question, Recite, Review

L;LHE.-”;;L;L .?:Jffrb?’gf;.}/
4. %



Question Number : 26 Question Id : 4771872626 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the Phases of teaching given under List-A with the associations given
under List-B

b Fromde s e g Prp8sd e seF Ll e

List- A List—B
Ao B
(Phases) (JP f /) (Association) (=4 J"d )
A)  Pre-active i) Conducting Group activities in the
class

2 -z
JGJIKLJ::_’)’& e J‘ufl_): ooz

B) Inter-active ii) Giving home assignments
}:' = /’;‘| ‘::: Jl.- E‘K ;
C) Post-active iii) Writing lesson plan

Hecry A

Choose the correct one
gzl
Options :

A-i, B-ii, C-111
1. #

A-iii, B-1, C-11
2.

A-ni, B-1,C-1
3. %

A-11, B-1, C-m



Question Number : 27 Question Id : 4771872627 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which one of the following strategies has less scope to promote group learning

among learners?

_;,J‘{,rgjjlfﬁfé. fi?n_;i,:/'f__,tfﬂuhfuyﬂl.u)u&fJ“_-,ﬁgjf.-f_ui’uﬁj

Options :
Discussions
2

1.

Brain storming

L-‘jf’.iq’ !fu'ri

Lecture cum demonstration

A3 ol
3.¢

Seminars

JL

4.% 7=



Question Number : 28 Question Id : 4771872628 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the INCORRECT statement among the following regarding guidance and

counselling
-u:/h_fg"lb/u_b.blic. ufdiﬁw,u:.Llf L= stz il
Options :

In directive counselling, the counsellor plays an active role in

understanding problem

-;rfuvu/&i.{iuté“f.lff/:?‘uf:d:w»&,r,g

1. %
In non-directive counselling, the counsellee plays an active role
-;#M;ui:/dbi_.{lfrufaﬂw»&,q/{'

2. %
Directive counselling is also called as client-centred-counselling
-“:J’:‘L?l{l/dq’.:.«;.@*'/(/-:;f L{f:uﬂi'-'{:i_u

3.¢

Vocational guidance helps in career planning and professional

development

_931{3*&6:/&!;&;};;5&5&:,1‘?Jfﬁf{jm;;lﬂsﬁzg



Question Number : 29 Question Id : 4771872629 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the learning styles given under List-A with the activities given under

List-B

LA L S L e s B i UL L seF LA

List- A List—B
Am~ f;-’ Boor /.‘"
(Learning style) (7— L—:(U /J’ ) (Activities) (J.L;‘/ y )
A) Visuallearning i) Listening to tape recorders
— "ﬁd ;.A*J L+ g jjé;:-;f
B) Auditory learning i1)  Understanding Gestures
C) Kinestheticlearning iii) Preparing models

- "f'i:;.l:ff LEJPU(U{#L

Choose the correct one
Zho uﬁ'-g_,mé”

Options :

A-i, B-ni, C-11
1. %

A-ii, B-1, C-iii
2.

A-i, B-i1, C-1i
3. %

A-m, B-11,C-1
4, %



Question Number : 30 Question Id : 4771872630 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The teacher can promote team work, leadership, conflict management and

interpersonal skills among learners in this type of learning

&

jf‘-";‘wuﬁWﬁ‘l"'/‘zj'b/"Gﬁ"éﬁgf—ﬁfrfuk!‘!f—uﬁ'fd’fuf__«L'fIZ.;‘:’uﬂ;L;n
P P Y
Options :
Co-operative learning
- i
1.v

Teacher-centric learning

— L.:'r!'}f/jf"’“

2. %

Self-learning

05
3. %

Subject-centric learning

T
4. %
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Question Id : 4771872631 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 35)
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Sub questions

Question Number : 31 Question Id : 4771872632 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

-"-l o~ - - ;5 -
e ST 22 LS isne 22U

Options :
=Ky 2y
1. ®
%
2. %

Lo S

.:.J‘!JJ,.';';;



Question Number : 32 Question Id : 4771872633 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

st o AT a3 J1GTE = e

Options :

73310
1. %

U334
2. % =

]

I
3. %

389y
4.

Question Number : 33 Question Id : 4771872634 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

_# L'Jfﬁﬁfwf S Ll f_gﬁdﬁ’;_i},} Ll

Options :
o 4
L@ eV v
Lu‘fj,fu L
2. %
C.-;#JL,T_::‘;L;:.—JE.;:
3. %
- r '_.-
=87 pUilil
4. %

Question Number : 34 Question Id : 4771872635 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Fke leju:;f_vi,at{;l@,ifuf SB35 °
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Question Number : 35 Question Id : 4771872636 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Shuffling Allowed : Yes



Question Id : 4771872637 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (36 to 40)
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Question Number : 36 Question Id : 4771872638 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 4771872639 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 4771872640 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 4771872641 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 4771872642 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 3
Sub-Section Id : 477187139
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 4771872643 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 4771872644 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 4771872645 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 4771872646 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 4771872647 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 4771872648 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 4771872649 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 4771872650 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 4771872651 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 4771872652 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 4771872653 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 4771872654 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Options :
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Question Number : 53 Question Id : 4771872655 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 4771872656 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 4771872657 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 4771872658 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 4771872659 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 4771872660 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 4771872661 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

b SUbte JeJr 1S53 AU
Options :

3 PG
3 A0

*%/L’E/‘—_"-’ZLJ'Y

3. %

o b Ty
3P0
4.v a



Question Number : 60 Question Id : 4771872662 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Language II English
Section Id : 47718788
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187140
Question Shuffling Allowed : Yes



Question Id : 4771872663 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)
(61-65) Read the following passage and choose the correct option for
each question.

The International Space Station {:ISS:) 15 a multinational imitiative and the
largest single structure ever constructed by humans in space. Its main
construction was finished between 1998 and 2011. though it has continued to
evolve with new missions and experiments. The ISS has been continuously
occupled since November 2, 2000.

Rather than being owned by one country. the ISS operates as a
collaborative program involving Europe, the United States of America, Russia,
Canada, and Japan, as noted by the European Space Agency (ESA). The cost of
operating the station is approximately $3 billion annually for NASA, which
represents about one-third of its human spaceflight budget, according to the
agency's Office of the Inspector General

As of May 2022, 258 people from 20 different nations have visited the ISS.
The United States of America with 158 individuals and Russia with 54
mdividuals are the leading contributors. Astronauts and research time on the
space station 1s allocated to different space agencies based on their financial and
other resource contributions. such as modules or robotic systems.

Sub questions

Question Number : 61 Question Id : 4771872664 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Astronauts and research time on the space station are assigned to various

space agencies based on the following contribution.

Options :
social service-related

environmental

finaneial and other resources
3. ¢



educational

Question Number : 62 Question Id : 4771872665 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ISS has maintained a continuous human presence since the year

Options :

| x 2022

- 2000
1998

3. %

e 2011

Question Number : 63 Question Id : 4771872666 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the correct statement about the International Space Station (ISS).
Options :
It 1z a multinational initiative and the smallest single structure ever

constructed by humans in space.

It 15 a multinational initiative and the largest single structure ever

constructed by humans 1n ocean.
2. %

It 1z a multinational initiative and the largest single structure ever

- constructed by humans in space.

It 15 only NASA's initiative and the largest single structure ever

constructed by humans in space.



Question Number : 64 Question Id : 4771872667 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

As per the passage, this country has sent more astronauts to the ISS.

Options :

France
1. %
Ruszia
2. %
Japan
3. % B
The United States of America
4.

Question Number : 65 Question Id : 4771872668 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

As per the European Space Agency (ESA). the ISS operates as a collaborative
program of the following.
Options :
Europe, the United States of America, Russia, Canada. and Japan

1.

Europe. the United States of America. Russia, India. and Japan
2. ®

Europe. the United States of America. Germany, Canada. and Japan

3. %
Europe. the United States of America. Russia, China and Japan
4. %
Sub-Section Number : 2
Sub-Section Id : 477187141

Question Shuffling Allowed : Yes



Question Number : 66 Question Id : 4771872669 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : Yes Display Question

brought books to the library to study together.

Choose the correct option to complete the sentence.
Options :

They, there

1. %

There, their
2. %

Their, they
3. %

They, their
4.

Question Number : 67 Question Id : 4771872670 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following two sentences.

Sentence A: She came here to studying at the college.

Sentence B: She came here to study at the college.

Choose the correct option.
Options :

Only the sentence A is correct.

1. ®

Only the sentence B is correct.
2.9

The sentences A and B are correct.
3. %

The sentences A and B are incorrect.
4, ®

: MCQ Option Shuffling : Yes Display Question



Question Number : 68 Question Id : 4771872671 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The passenger runs to catch the train.

Choose the option to complete the sentence.

Options :

- fastly
quick

2. %

- quickly
slow

4. %

Question Number : 69 Question Id : 4771872672 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The minister the prizes to the winners at the end of the function.

Complete the sentence with correct option.

Options :

gave away
1.v

gave up
2. %

glve up
3. %

e back
L x gave bac



Question Number : 70 Question Id : 4771872673 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Sharath will not obey you. Talk to him politely.
Combine the two sentences.

Options :

Sharath will not obey vou unless vou talked to him politely.

1. %
Sharath will not obey you unless you don't talk to him politely.
2. %
Sharath will obey you unless you talk to him politely.
3. %
Sharath will not obey you unless you talk to him politely.
4.v

Question Number : 71 Question Id : 4771872674 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
My brother was driving the car.

Choose the passive voice sentence for the given sentence.

Options :

The car was been driven by my brother.

1. %

The car was being driven by my brother.
2.

The car was driven by my brother.
3. %

The car had been driven by my brother.
4. %



Question Number : 72 Question Id : 4771872675 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
I said to my friend, ‘Please lend me your cycle.”
Change the sentence into indirect speech.

Options :

I requested my friend to lend him his eycle.

1. ®
I requested my friend to lend me your cycle.
2. %
™ I requested my friend to lend me his cycle.
. My friend requested me to lend his eycle.
4,

Question Number : 73 Question Id : 4771872676 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
He offers abundant evidence that he 1s right.
Identify the meaning of the word ‘abundant’.

Options :

ample
1.

meagre
2. ®

minimal
3. %

acant



Question Number : 74 Question Id : 4771872677 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
His knowledge of history is profound.

Identify the opposite meaning of the word ‘profound'.

Options :

| % gincere
scholarly

2. %

_ erudite
superficial

4.

Question Number : 75 Question Id : 4771872678 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The study of birds is called

Options :

anthropology.
1. %

ornithology.
2. ¢
- zoology.

mythology.
4. %



Question Number : 76 Question Id : 4771872679 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the meaning of the idiom a dark horse’.

Options :

A wild animal

1. ®
A black horse
2. %
An unknown entry
3. %
A front runner
4. %

Question Number : 77 Question Id : 4771872680 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify INCORRECTLY spelt word.

Options :

privilege
1. %

maintenence
2.

exclamatory
3. %

colleague

4. %



Question Number : 78 Question Id : 4771872681 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify meaningful sentence.

Options :
Conversion of agriculture into forests land 1s weakening India’s monsoon.

1. ®

Conversion of forests into monsoon land 1s weakening India’s agriculture.
2. %

Conversion of monsoons into agriculture land 1s weakening India’s forests.
3. %

Conversion of forests into agriculture land 1= weakening India’s monsoon.
4.«

Question Number : 79 Question Id : 4771872682 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

It was raining heavily vesterday., ?
Choose the correct option to complete the sentence.
Options :

wasn't it

1.

i=n’t it
2. %

s it
3. %

was 1t

4, %



Question Number : 80 Question Id : 4771872683 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

When no one came  to help him. he herszelf picked the bag.

A B C D
Options :
A

Question Number : 81 Question Id : 4771872684 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the grammatically correct sentence.

Options :

All the five man’s were very energetic and eager to perform their duty.

All the five men were very energetic and eager to perform their duty.
2.

All the five mens were very energetic and eager to perform their duty.

All the five men was very energetic and eager to performed their duty.

4. %



Question Number : 82 Question Id : 4771872685 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arrange the options to make a meaningful sentence.
P:In every country, people often

Q:the best and the most intelligent.

R:as less capable or inferior in comparison.

S:while viewing people from other countries
T:believe that they themselves are

Choose the correct option.

Options :

2.

3.

4,

P.Q.T.R. S

P.T.Q.S. R
o

P.R.Q.T.S
E

P.T.R.Q.S

&

: MCQ Option Shuffling : Yes Display Question



Question Number : 83 Question Id : 4771872686 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the option that uses the article ‘the’ INCORRECTLY.

Options :

He was the first man to arrive.

5 The wisdom 1s the gift of heaven.

The rose is the aweeteat of all flowers.
3. %

The darkest cloud has a silver lining.
4. %

Question Number : 84 Question Id : 4771872687 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

She her camera on the sofa.

Complete the sentence with correct option.

Options :

laid
1.+
2 % 12Y

lie
3. %

lied



Question Number : 85 Question Id : 4771872688 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

An interactive communication between two or more people 15 a/an
PeOp i

Options :

story.
1. %

conversation.

2.9
essavy.
3. % :
apeech.
ax 0

Question Number : 86 Question Id : 4771872689 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The best known advocate of “Spiral Curriculum’ is

Options :
Bruner
1.+

Noam Chomsky
2. %

Antony E M
3. %

Brendan J. Carroll



Question Number : 87 Question Id : 4771872690 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In a primary school classroom, an English teacher should create an environment
that is

Options :

focused on writing and giving home assignments.

1. %
strict and following formal methods of teaching.
2. %
stimulating. inclusive. and focused on student participation.
3. ¢
teaching and learning that relies solely on the textboolk.
4. %

Question Number : 88 Question Id : 4771872691 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The following theme 1= inappropriate for the English mstruction at the primary
level.

Options :

Friendship and Kindness

1.

Sports and Games
2.

Home and School
3.

World Heritage and Culture



Question Number : 89 Question Id : 4771872692 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main goal in teaching the skill of speaking is to

Options :

memorize the vocabulary and reproduce.

1. %
express oneself intelligibly. reasonably and accurately.
2.9
assist learners in writing without making grammatical errors.
3. %
develop reading skills through speaking activities.
4. %

Question Number : 90 Question Id : 4771872693 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following two statements about language learning.

Statement A: Language learning needs tolerance on the part of the teacher.
Statement B: Mistakes are natural and inevitable part of the learning
process.

Choose the correct option.
Options :

Only the statement A 1= correct.

1. %

Only the statement B 1s correct.
2. %

The statements A and B are correct.
3.

The statements A and B are incorrect.
4. %

Mathematics



Section Id : 47718789

Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30

Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187142
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 4771872694 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Rational formof 3. 7 is

,;._:.L_,ﬁ l_:“‘bi'u'/& 7 s

Options :
37
100
1. *
34
2. 9
37
3. % 99
34
99



Question Number : 92 Question Id : 4771872695 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
[(—3) X (—=4) X (=5) X (=6) X (=7)] =
Options :

—aoZl
1.

2520

—1260

1260

Question Number : 93 Question Id : 4771872696 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The population of a town is 108090. Out of which 29040 are men and 28105 are

women and the remaining are children. Then the number of children 1s

eI SUFT U E Sl 1528105 503 22904027 & 108090 ATLE S - L

Options :

L% 50845

51945
2. %

y % 51845

50945
4.



Question Number : 94 Question Id : 4771872697 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The marks got by a student in 4 subjects in an examination are 228. If the average
marks of 3 subjects 1s 56, then how many marks did the student get in the fourth

subject?
bbb b Ut A 31228 i b i A I F b
-ﬁ:_&fuwb:.»t&fzu':ufb ij@#‘__m’l}:;cﬁSﬁ

Options :
58



Question Number : 95 Question Id : 4771872698 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following fractions is least?

P YN

Options :
98

100
1. ®

23

25
2. %

10

11
3. ¢

57
59



Question Number : 96 Question Id : 4771872699 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

1
If each side of a triangle is 3 rd of its perimeter, then type of the triangle is

" ; 1 :
e U e 2 s = Kot LT et L

Options :

Isosceles

AU
1. %

Equilateral

LT o

O Uiyl
2.

Right angled

Obtuse

22



Question Number : 97 Question Id : 4771872700 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following number is divisible by 67
_ﬁ:_[‘.TﬂJ utﬁ'a.ﬁjﬁu;u:utj

Options :

179184
1.+

143354
2. %

800552
3. %

126352
4.%

Question Number : 98 Question Id : 4771872701 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of millimetres in 100 Kilometres is
e Grad S S E100

Options :

10°
1. %

107
2. %

10°
3. %

108



Question Number : 99 Question Id : 4771872702 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of edges in a tetrahedron is
= . -
—e oI S U ("ﬁ'n‘ﬁ b

Options :



Question Number : 100 Question Id : 4771872703 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A 60cm long wire is used to form following shapes. Which of them will have shortest

side?

tF e NS s eIt e k25760

Options :
asquare
% O/

an equilateral triangle

Sl 1S sl

2. %
a regular pentagon
Yl

3. %

a regular hexagon

A (‘!M

4.



Question Number : 101 Question Id : 4771872704 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

38X3BX3B-26X26X26
38X38+38X26+26X26

Options :
1. ¢

144
2. %

64
3. %

1728

Question Number : 102 Question Id : 4771872705 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The ratio of the cost price and the selling price is 8:10. The profit percent is

{ﬁﬁ-ﬂ.:;f_c;-:.—rjéiﬂ: 1nu¢;é;};é';sl¢j;£'

Options :

% S0%

20%

75%
4, %



Question Number : 103 Question Id : 4771872706 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT correct?
_;uﬁ{:ﬁf;;,:»dii?f’
Options :
15
15 tenths =—
10

2SS = —

15
10

3025 grams = 3 kilograms 25 grams

2507 #3-01./3025

Area of a rectangle 4.5m X 0.5m = area of a square with side 15cm
3K Lisid Smx 0.5m =368 L1 <15

3.¢

0.016=16 X 1073



Question Number : 104 Question Id : 4771872707 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The place valueof 01n 2225.106 18
ce el $6- 02222510650
Options :

Hundreds

1. #®

Tenths

oy
2. %

Tens

b

A

3. % ’

Hundredths

gy
4.



Question Number : 105 Question Id : 4771872708 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
1 2
Ramu gave his sister o th of chocolates available with him. He gave his brother = rd
from the remaining and left with 48 chocolates. The number of chocolates available

with Ramu at first is
: 2 . .
oAUt wsa bl 0 & Blog bod G e et Bler 2 U
S ALK A2y S LIS LKA L

Options :

180
2.

3 % 360

4 % 480

Question Number : 106 Question Id : 4771872709 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following numbers is divisible by 2, 3, 6 and 87

-;_rf-:JJ Fe 8J.9|643f2_‘ﬁt~'-.!‘|/5-pr:ufj

Options :
24810
1. #

43888

34800
3.

42316



Question Number : 107 Question Id : 4771872710 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

4 men can complete a work in 24 days, then 12 men will complete the same work in how

many days?

LGS AUHES ST 2 e S 3245 K LIS T

Options :
12
1. ®
-"
2.% ©
3. % 6
8

4.



Question Number : 108 Question Id : 4771872711 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

35m?2 is the area of
= 8,357,

Options :

A square having side 35m

3KE I 1235
1. ®
5 squares having side 7m each
5 5
SHEUR ST AL
2. %
35 squares having side 1m each
3K 350t 2
3.¢

7 squares having side Sm each

3K TN 125

4. %



Question Number : 109 Question Id : 4771872712 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number 3 crores 6 lakhs 4 thousands 8 hundred sixty-nine in numerals can be

written as
-?Wb”fé)ur’[ﬁj”fﬁm;ﬂk;ﬂa_fjh B2y

Options :

30604869
1.+

360400869

36004869
3. %

306048069
4. %

Question Number : 110 Question Id : 4771872713 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

(3 2)3 L

Options :

38
1. %

63
2. %

(}2
3. &

272



Question Number : 111 Question Id : 4771872714 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

3
There are 72 students in a class. If the number of boys 18 s times the number of girls,

then the number of girls is

SV 03 SIS ANt BT 2 e
—Uad S U A Al = NP SUn P ARSI Pt - M emsla Ll
Options :

.7
1. #®

45

42

40
4.%

Question Number : 112 Question Id : 4771872715 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The number of points present on a straight line are
_.:L:,d::;!ﬁJLL‘EJ z F;.;ff/h?'

Options :
1. ® 0



Question Number : 113 Question Id : 4771872716 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is an even integer when n is an odd integer?
- " . ;
_gjxéa Jb Tl.g"r._‘-)ﬁ f_-.:? suliy L)':uf Sigr”

Options :

| % on+38

3n®+5
2.

- 3n? + 4

in% —§
4, %

Question Number : 114 Question Id : 4771872717 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If sum of prime numbers less than 25 1s A and mean of odd numbers less than 10 1s B,

h =
-t. 3 — —
en

%: J;Bk;ibﬁlﬁl&wrfaIUJJI%A;!?-.K}!#U/E‘F:_ZSJI

Options :

v 20

2. %

18



Question Number : 115 Question Id : 4771872718 Question Type : MCQ Option Shuffling

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following best describes the nature of mathematics?
ce bS5 e B L oL i

Options :

It involves abstract thinking and logical reasoning.

- - * 5
_.;‘-.J‘/,;dtiﬁ-idy.ulér;j,:
v s

1.

It is limited to solving routine classroom problems.

~ni JH_./'U’J/LML:JL?_:/’,:

2. &
It 1s exclusively concerned with principles.
e ¥ i,

3. %

Itis a language used only in art and engineering.

—e I s eI L e T

4.

: Yes Display Question



Question Number : 116 Question Id : 4771872719 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If a child is consistently struggling to count beyond 20, what should a primary

mathematies teacher do first?

e SUb PGP NS 1 G S S L S LT 2007 285

Options :

Doing challenging addition problems.

| % UFU‘JJ.:.U!KLC"VE’E"

Reciting the numbers.

ETLY

2. %
Conduct of daily tests.
: itk b
oS s
3. %

Strengthening counting skills by utilizing concrete objects.

S f e ST Ll S



Question Number : 117 Question Id : 4771872720 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A rubricis:

_.%,J.{M

Options :
A standardized test prepared by the experts.

-?.u}g”dj"tl‘u—gujjg:.ﬁjjﬁw:ﬁL

1. ®
A multiplication and division trick to answer within seconds.
Lol R UL T S e

2. %

A scoring guide that provides criteria for assessment.

- Sl S A d LGl

A graphing tool to solve algebraic equations and algebraic problems.

e s JE S L L8 TP S et §1Aumuiildi



Question Number : 118 Question Id : 4771872721 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the features of mathematics listed in A with their corresponding actionsin B.:

e e JWised s st Beo g eter® (LTS A i

A
A) Creativity

B)  Analytical Thinking
{o ¥

C) Communication

JL{J;F

D) Conceptual Understanding

rf':Jd/._“/l.u‘j

Choose the correct answer

2Tz g

Options :

A-i, B-iv, C-111, D-1
1. #

o A-ii, B-1, C-11, D-iv

A-in, B-1, C-iv, D-11
3.¢¥

A-iv, B-1, C-ii1, D-11
4. %

ii)

iii)

iv)

B
Breaks down problems logically

L/ﬁ:‘?.;.dbgy!(fb’

In-depth content knowledge

H‘ Ko™ syt

Use innovative methods

2 R 1y

Explaining mathematical ideas

ol J s d_L:#E..r



Question Number : 119 Question Id : 4771872722 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0
The instructional objectives are:
r L yiae E‘Lﬁj;
Options :

More related to classroom teaching.

J’:‘:..&;IJ:JLE& ;..'«.!H

1. ¢
Achievable in the long term.
JrJeste fd
2. %
More abstract.
s Al
3. %

Not measurable.

Flabr



Question Number : 120 Question Id : 4771872723 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

A teacher asks students to guess, "If a square piece of paper is cut diagonally, what shapes

will be formed?"
Sun o sE S A LT3k LSV S 2 g o

A) Two rectangles

L}:&’”JJ

B) Two circles

&
&3y
C) Two triangles

Sl
D) One triangle

-y

This question relates to this academic standard.
_?JWL.JP-*L):HJUIJ’{
Options :

Connections

b1y

Visualisation

Problem solving

_ S

Reasoning and proof

.:ffdlf,&'r!
4.



Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Environmental Studies

47718790
5

Online
Mandatory
30

30

30

0

1
477187143
Yes



Question Number : 121 Question Id : 4771872724 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Plants can be classified into the following categories

_.:_-,L:CLE:LJ/AE,;J:JQJ/}J“EJ Jru}:f{:
A) herbs

B) shrubs

C} trees

Choose the correct answer

g2l
Options :
A & Bonly

BusA #

B& Conly

CoiB Vad

A& Conly

CJ:FA...J;‘"
3. %

AB&C
4.



Question Number : 122 Question Id : 4771872725 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Riya often peels vegetables like carrots and cucumbers before cooking. Her teacher
advised her to use them with the peel whenever possible, as it helps improve

digestion. The food component in the peel that is likely the reason for this advice is:

!‘Jf,ddhﬂ .('EJEJ!:PL/.":"{J-JL#‘_'-&JU.? %:.Lé;;.ﬁsl.?fé u.:{;f}ffg;

Jﬁefuﬁ;m;&uﬁﬁj-ﬁ,rﬁ* JLE%[JL:J’UJ{-' H,IJV'*!JVLEU{I
ce eIy

Options :

Protein

g

1. %
Fiber
(%—Jdiﬁ)ﬁﬁ
2.
Fat
4z
3. %

Vitamin

0%



Question Number : 123 Question Id : 4771872726 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the correct statement about hermaphroditism.
-Z;:L,‘LCL‘?'-;JU)E: ,:..f.uub',;. .:.-:Kﬁdp

Options :

Hermaphrodites can only reproduce asexually.

WY AT Ny RPN g

1. %
All animals are hermaphrodites by nature.
- @ -y - el
9IS U O g VT L IPY
2. % '
Hermaphrodites possess both male and female reproductive organs.
032 1S T Sam st s e o 87
3.¢

Hermaphroditism occurs only in plants.

- - i &:V‘
.g.dﬁﬁl;uﬁuug_!ﬁ &_;-Eﬁu

4. %



Question Number : 124 Question Id : 4771872727 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The primary purpose of rearing the Kangayam bullock is:

'?:*‘EAQJEKUMJ’{’};'JJ&%H

Options :

Racing

s
A3

Milk production

5 i -
Wil A 'L,(m.!ﬂ
Drought work

3.¢

Wool production

-~
,.'Fj'_ég:d g_*}_sl
4, %



Question Number : 125 Question Id : 4771872728 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the device, commonly used 1in industrial chimneys to reduce air pollution by

removing particulate matter from flue gases, from the following

U B2 e el Uil L8 TG LuBEE gt pen gt st § LT

Options :

(Gas turbine

uffl.—; Jf

Electrostatic precipitator

ATy,

Heat exchanger

JKJJ?L‘;IIF
3. %

Blast furnace

FF

_.‘;_.gufg_f_j-_'ff"?ﬂ%:(:.«b};.



Question Number : 126 Question Id : 4771872729 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Testing for the presence of starch in a food 1tem should be done on:
£ 3 Ix - 5:’ . (.., &7 & ..‘ o

-2 L3O 1B O s A

A)  Cooked food

VRYA]
B) Raw food

u:j:

Choose the correct answer

g£f§M#£§?

Options :
Aonly
A<
1. ®
B only
B_
2. %
BothA& B
UrBaslA
3.9
Neither A nor B
B« sAEL



Question Number : 127 Question Id : 4771872730 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of ribs present on each side of the human chest

-'?-J!f-"ﬁ:" Su e Lipf e du

Options :
13 ribs
Uiz13
1. ®
12 ribs
U712
2.9
11 ribs
U211
3. %
10 ribs
JL=10

4. %



Question Number : 128 Question Id : 4771872731 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The balance of oxygen and carbon dioxide in the atmosphere is maintained

through:

-l w‘:'_f!}_{ ,{Jsz.grig}}l;gi_‘:L—jT{j |5;;,ub/.d|;='?:‘—?u’:a/d L2
A) Respiration — Plants

-

B) Photosynthesis — Plants

}g'JJL’ﬁ

C) Photosynthesis — Animals

2l - 7 f s

Choose the correct answer

&£ zE

Options :
A& Bonly
BaA_ ~
1.
B & Conly
C.sBJ~
2. %
A& Conly
CJ,*IA...J,“’
3. %
AB&C

4. %



Question Number : 129 Question Id : 4771872732 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following declared a ‘no drive zone’ within a 2.5 km radius of the Taj
Mahal?

Wotbydisd e il 2 832,52 Fevi o s

Options :

Archaeological Survey of India

LIy Sz T

Central Pollution Control Board

b o g

2. %

Supreme Court of India

. &
LA

Ministry of Environment, Forest and Climate Change

(Zf’;ﬁ?migl_*..ulif:«ﬁ}!ﬁ!_fd}"
4. %



Question Number : 130 Question Id : 4771872733 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

What fraction of the Earth's fresh water is available in the form of ice and snow?

ce Bt s SSNOW i e EE e

Options :

1. ® 10
1
3

2. %

3. %

4.



Question Number : 131 Question Id : 4771872734 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the correct statement regarding renewable and non-renewable energy

s0Urces.
-ﬁ:&;lﬁk{uk ;x;;&hv;.uf;uhyf" JG’L‘;;L&A_.‘?J FLJL‘I;

Options :
Renewable energy sources are always more efficient than non-renewable

SOUrces 1N energy conversion.

2rakie UL as St L6 S007 288158 SE L0

v/ K
1. %
Non-renewable energy sources are infinite and can be replenished
naturally within a short time span.
_?CilgL—@Ewl,ug_)fﬂ:ﬁy-glfrni’d;ﬁﬂwluﬁnﬁ U(’jl;iidbl;.&"aﬁ'ndﬁ't
2. %
Both renewable and non-renewable energy sources emit equal levels of
greenhouse gases during energy production.
Js[zu:/(g_,ff.xlﬁ‘ uL-gul;JJL;I}LE;,J:‘JL‘I;fdl.ri.f;dt'f;u:;su_,?—JE’L‘;:L&J_;JG'
L Sy
3. %

Renewable energy sources include solar, wind, and geothermal, while non-

renewable sources include coal, 0il, and natural gas.
F S 2815 L Qv3uid S B 2z mdisnas” 2B LS098 6
-;J L7 ﬁ, L}Jﬁ).ﬂ

4.



Question Number : 132 Question Id : 4771872735 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following food items help in increasing the quantity of blood in the

human body?

-?Jﬁdﬁbmﬂi.wfﬂﬁ’J u}:;uff')' Ju’!.sgiujl:éu’ St osir

Options :

2.

3. %

4. %

Chips, soda, and white bread

- &
b e iy e 2

Peanut bar, gingelly bar (Til), and eggs

P AN AN TS

Pickles, fried snacks, and candy

(ESI NS4S g 2858 e

Instant noodles, coffee, and sugary drinks

;g:}é’;;ld%dﬂﬁgl



Question Number : 133 Question Id : 4771872736 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In 1565, the five Bahamani Kingdoms joined together and defeated this

Vijayanagara ruler at Rakkasi Tangadi war
GralS N PNLF 2 s S S S i A UFE G EL 41565

Options :
Achyuta Rava

P Vol

Aliva Rama Rava

-
2 8
v =7 <

Venkatapati Raya

LLJLE%L“-E:J

Saluva Narasimha Raya

il A
4, %



Question Number : 134 Question Id : 4771872737 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0
Among the following principal followers of Jainism, the Rashtrakuta rulers were
- o " 3 i
t& yf P LS Pl fuipiitic? Lol
Options :
Chandra Gupta IT and Udavana
;EI;;U;I(::;&F@

1. ®

Kharavela and Samprathi

{Jf/;ﬂ.xslji‘f.ﬂxk

2. %
Hamundarava and Kharavela

Fad
L a2 I

Amoghavarsha and Krishna IV

» ARSI s h



Question Number : 135 Question Id : 4771872738 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

In 1956, the number of States and Union Territories created by the States

Reorganisation Commission
'l:['r.lrl.'_};ﬂirlﬁ;'l_.: defﬁlu:;k;fi.ﬁf,tngu;ﬂjdﬁ 1956
Options :

14 states and 6 Union Territories

P15 68514
%

28 States and 9 Union Territories

A 9l 28

2. %
18 States and 7 Union Territories
P15 P T8

3. %

29 States and 8 Union Territories

U315 28 s 129



Question Number : 136 Question Id : 4771872739 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

One among the following was NOT the Prime Minister of India between 1989 and 1991
& 1 L1991 19890 = A 5
Options :
LK Gujral

) JEEST

1.

Deve Gowda
139 ¥
2.
Vishwanath Prathap Singh
Fby i
3. %

Morarp Desai

JL;f:J--f'f
4.



Question Number : 137 Question Id : 4771872740 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following is the aim of 42" constitutional amendment of the Indian

Constitution
e s A2 Sk s L S 5T
Options :
Making the Judiciary subservient to Parhiament

bl L oAy Ju
LV

Enactment of the Official Language Act

WKL LI IS K
2. %
Bringing Education Under Fundamental Rights
. CSSELOP Solsd 2
3.

Strengthening the State Government vis a vis the Central Government

L‘fbﬁyfyﬁﬁkgéwiyﬁd}"/



Question Number : 138 Question Id : 4771872741 Question Type : MCQ Option Shuffling

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Ravi is travelling from New York to New Delhi by Aeroplane. Then Rawvi
Srsr e {(J,)’}“’ u_irb.:f_;,'y( 'Ju;...f;_t: ¥

Options :

loses time of 4 minutes as he crosses every longitude

KL Feierds wl SASAJE s

1.

gains time of 4 minutes as he crosses every longitude

K S S v nl TaS ) s

2. %
neither gains nor loses the time
e -
LL;JﬂgL};:‘(;JJ;»
3. ’

almost loses 24 hours by the time he reaches New Delhi

KL)é/gZ‘q';/ﬁ:r;?uﬂ{%J‘)Eer

4. %

: Yes Display Question



Question Number : 139 Question Id : 4771872742 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

These mountain ranges form the eastern edges of the Deccan Plateau

Gt i3/ LS8 Uiy

Options :
The Satpura Range

Gy e

1. ®

The Mahadev, the Kaimur range and a portion of Maikal Range

.ﬂ?uﬁKﬁd}iﬁgu@ul,@ng«;;rJ%g;Q

2.

Western Ghats

_ulfd/"

Nilagiri Mountain Ranges

A K



Question Number : 140 Question Id : 4771872743 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

In India, the major tea producing region among the following is

Sy L Se b b osia Sk

Options :
The hilly regions of Assam

-

gl

The Baba Budan Hilly Region

L w Gl
The Nilgiris in Karnataka, Kerala and Tamil Nadu
3, % SH L e S Lol

The Andaman and Nicobar Region

21k A !{JJ!ULJ:&:!
4. %



Question Number : 141 Question Id : 4771872744 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main objective of Integrated Watershed Management Programme in drought

prone areas 1s to
W o\ 1S s g B 43 b p U e s L Y

Options :

Strengthen the community and enable them to plan for proper utilisation of

natural resources

(e J6 LSSk v L LIl L Fos (05 S itk b S Tk

Provide water to drought prone areas continuously

SRS Uik e LY

2. %

Undertake plantation in large scale

cSEKE Likd Y
3. %

Encourage the farmers to undertake community farming

SIS Bos Serd S S b1 UL

4. %



Question Number : 142 Question Id : 4771872745 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Bhakta Prahalada, the first talkie movie which was released in 1931 was
produced by

WL U1 kg P G SRS e 41931

Options :

Raghupathi Venkaiah Naidu
[yl l:_-c:.}&.:{r
1. ®
Edida Nageswara Rao
=
T Cla sl

2. %

Hanumappa Munmappa Reddy

Shplrless
3.

M.V.Raghu

. ){ed;ﬁ!

4.



Question Number : 143 Question Id : 4771872746 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

To spread awareness among daliths by using Popular Folk Arts, Bhagya Reddy

Varma started
-.LH’E#’}LLJ’LE&J:J@%-LLMJJ'& SR nd S yP SI )

Options :
Adi Hindu Society

ey -
. Lol

Jagan Mitra Mandali

Samp”

2.

Satya Shodak Samaj

x Cheder® -

Sharada Sadan

cjru;b:



Question Number : 144 Question Id : 4771872747 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

This amendment made to the Indian Constitution says that “the state shall provide

free and compulsory Education to all children between the ages 6 and 14 years
« Lo . e R - w -
_;./fﬂ/’(‘f" Silsslmir ol iy ufl"b’ ZJ-1406 -(']—'-Lfi :;3},;;LJ!(:J Y- Yol
Options :
61 Amendment

!"r:;u:.!ﬁ].

42 Amendment

[f“-f,?Ju,-ﬁl-Z

2. %

86™" Amendment

586

3.¢¥

102" Amendment
ff.?u”",' 102

4, %



Question Number : 145 Question Id : 4771872748 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

During a science lesson, Ms. Patel asks her students to work in small groups to
conduct an experiment and discuss their observations. Which type of learning

interaction is primarily being emphasized in this activity?
Dol pe iy L'E‘JJ'L-I{’T}_-{';LJ}‘J‘ ._fflbr,.u_f.; u/ujlﬂjiuﬂ;ﬁd’ﬁf .{lr':. g_,f:"fo
SVt RS e F L L St L AL L8 s
-?Mg_l.:u;)..;j LHL::J/I

Options :

Student—Content Interaction

JIL}‘TLU}‘Z.JI!’—H‘__«JU’

1. ®
Student —Teacher Interaction
S Pt

2. %
Student— Student Interaction
S AF -

3.9

Teacher—Content Interaction

S VP sl

4. %



Question Number : 146 Question Id : 4771872749 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is least relevant when evaluating the effectiveness of a

science period plan at the primary level?

- L‘Efj.:.;«,?:ab‘?(‘ ;.h_.—fuﬁéigdrﬁ;brfﬁfd/d L&%LUL/V{é'd;IJ:JL?;ﬂ

Options :

Motivation of students in the teaching-learning process

L‘/rl,gq. .F’/ g_,ff._-l-bul.wz.f f..,fLﬂ/Fsud.f;

1. ®
Clarity in explaining the content
I e L-"—',-}’(g;,lr’” s
2. %
Effectiveness of assessment methods
Cx ik AL
3. %

Teacher's dress code

W RAAE

4.



Question Number : 147 Question Id : 4771872750 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

An EVS teacher, Kalpana, always encourages her students to decide the final

result not with a single observation, but after making several observations. This

is called:
_Qﬁf.bégézfnf;[j/@!ﬁ!ﬁﬂ;ufk._‘JL!;P-?.I.'-"?.*.‘IU;E/H’"/_/..-Iiiv‘{jyi‘l._{l
-?L"M,:_U:J/MEZ.LI:.‘LQ L;'-»Cj’,,lf_u:f;,,»_,):{iu

Options :
Inferencing
LAY

1.¢

(Classification
l.'/r iy 243

2. %

Prediction
4 &
SR

3. %

Questioning

L'/Ulr



Question Number : 148 Question Id : 4771872751 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per the NCF-2005, the following are to be taught in Environmental Studies at

Primary Stage

Kot 4t 5Tt Mo QUL I < 5 L2005 S6 3L 37

A Environmental Protection
E&F"JLJFL

B. Poverty
= f

3. Child Labour

SYIEyxs
D. Miteracy

-f peileH

E. Caste and Class equalities
sl S UFF LUl

Choose the correct one:
£ Szl

Options :

A.B.C,D.E

A B.C,Donly

DC:B:AS ~
2.¢¥

A B,C,Eonly

ECBAJ~
3. %



A, C,Eonly
EC:A_i~

Question Number : 149 Question Id : 4771872752 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The lesson — “Child Rights” — was developed based on the following theme in

Environmental Studies

sl d Lo S 0w Lo G Ut b (st

Options :
Safety

bes
1. ®

Food, Health & Hygiene

=5 B a5
2. %
Values and Rights
O sl
3.
Travel
/;d

4. %



Question Number : 150 Question Id : 4771872753 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The following activity will NOT help the teacher to create the effective EVS

(Envi:m nmental Studies) classroom environment

_fg./uﬁ}ibu’:i.tzgjfl.ﬁ!‘ E}'uuu{i.-fllvSLJFL:?"’J)%/J_EZ»,»

Options :

Discuss in groups

,i'-’lfu‘f'-u;frjf

1. ®
Think and Say
ryra
2.
Collect and Record the information {Tahles:l
(ds.a-;)L'/r Ew:ull;/ b?:( S
3. %
Reading the books
LS Ikl

4.



